
Algebra 3 Assignment # 6 
 

 

Write the equation of a parabola which satisfies each of the following please 

 

 (1) focus at (0 , 1) , directrix is  y  =  −1. 

 

 

 (2)  vertex at (−2 , 1) , focus at (−2 , 5). 

 

 

 (3)  focus at (4 , −2) , directrix is  x  =  6. 

 

 

 (4)  vertex at (1 , 3) , directrix is x  = 5. 

 

 

 (5)  vertex at ( ) 0  ,    
2
1−  , focus at  ( )   ,    

4
1

2
1 −− . 

 

 

 (6)  directrix is x  =  0 , focus at ( )   ,  1  
2
5 . 

 

 

 (7)  focus at (0 , 0) , directrix is  x  =  −5.  

 

 

 (8)  vertex at  (2 , −2) , passes through (0 , 0). 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Algebra 3 Assignment # 6 
Answers 

 

 

 (1)  4y    x2 =  

 

 

(2)  ( ) ( )1 y  16    2  x 2 −=+  

 

 

(3)  ( ) ( )5 x  4    2 y 2 −−=+  

 

 

(4)  ( ) ( )1 x  16    3  y 2 −−=−  

 

 

(5)  ( )   y    x 
2 

2
1 =+  

 

 

(6)  ( ) ( )  x   2      y 
2
12 

2
5 −=−  

 

 

(7)  ( )  x   10   y
2
52 +=  

 

 

(8)  ( ) ( )2 y  2    2  x 2 +=−   or  ( ) ( )2 x  2    2  y 2 −−=+  

 

 

 

 

 

 

 

 


